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PHYSICS SSCHI
SECTION — A (Markg 12)

Time allowed: 20 Minutes [ Version Number [1[8]1[1]

NOTE: Section—-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carrles one mark.

(i)

(ii)

(iii)

(iv)

(vi)

(vii)

(viii}

(ix)

(x)

(xi)

(xii)

What is the frequency of second pendulum?

A. 1.5 Hz B. 2 Hz C. 1Hz D. 0.5Hz

If the mass of bob of a pendulum is increased by a factor of ‘2'then the period of pendulum motion will:
A. Increase a factor of '2' B. Increase a factor of ‘4’

C. Remains same D. Increase a factor of ﬁ

The sound energy passing per unit area per second is called:

A Loudness B. Intensity of sound

C. Pitch of sound D. Frequency

The intensity level of mosquito buzzing is:

A 40 dB B. 30dB C. 20 dB D. 10 dB
The unit of power of lens is:

A. Watt B. I C. Joule D. Dioptre
If radius of curvature is 10cm then focal length of convex lens is;

A. 20cm B. 10 cm C. 5cm D. 2.5cm
If we double the distance between two point charges then coulomb’s force will:

A Increase 4 times B. Decrease 4 times

C. Increase 2 times D. Decrease 2 times

lpF =7

A 1072 F B. 10°F C. 102 F D. 10°F

The Symbol of earth in an electrical circuit is:

+ ®

s
A. MW B. = C. D. T
The electrical power is given by:

y2

A. P=VI B. P=I'R C. P= D. P=VIt
In Burglar alarm, the Light Dependent Resistance (LDR) acts as a/an:
A OFF switch B. ON switch C. AND gate D. OR gate
Which is the correct order of radiations for penetrating ability?
A P, <F;<Pk B. B, >P;>F,
C. Py <P <P, D. B <P sk,
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929
PHYSICS 8SC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any elevgn parts from Section ‘B’ and any twe questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Magies 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)
(i) Write down any three common properties of Longitudinal and Transverse waves.
(it) If the time for 20 vibrations is 100 second then find:
a. Time period b. Frequency
(i) Explain briefly the transmission of radio waves.

{iv) Define the following:

a. Reverberation b. Acoustics

(v) Find the sound intensity if the sound level is 80 dB.

(vi) . If the length of simple pendulum is ‘4’ times, what will be the change in its time period?

(vii) If a high voltage power line fell across your car while you were in the car. Why should you not come out
of the car?

(viy  Does each capacitor carry equal charge in series combination? Explain briefly.

{ix) Write down any three properties of electric field lines.

(x) Name any three uses of oscilloscope.

(xi) Name two factors, which can enhance the thermionic emission and also define thermionic emission.
(xii) What are radio Isotopes? Give two examples. -

(xii}  How much of 1 gram sample of pure radio active metter would be left undecayed after four half lives.

{xiv) The 14--C : 12—C ratio in the fossil bone is found to be % th that of the ratio in the bone of living

animal. The half life of 14— Cis 5730 years. What is the approximate age of the fossil?

(xv) Can current flow in a circuit without potential difference?

_ SECTION - C (Maghs 20)
Note: Attempt any TWO questions. All questions carry squal marks. (2 x 10 = 20)
Q.3 a. Draw ray diagram of the following: (242+2)
i. Simple Microscope ill Compound Microscope iiii. Telescope
b. An object and its image in a concave mirror are of the same height yet inverted, when the
object is 20 cm from the mirror. What is the focal length of the mirror? (04)
Q.4 a Define Resistance and also prove that R = p% (1+5)
b. A step down transformer has turn ratio 1:100. An A.C voltage of level of amplitude 170 voltis

applied to primary coil. If the current in the primary coil is 1 mA then what is the current in

secondary coil? {04)
Q.5 a. Define Generator, A.C Generator and also draw labelled diagram to illustrate the structure and
working of A.C Generator. (1+1+4)
b. By applying a potential difference of 10 volt across the conductor, a current of 1.5 A passes
through it. How much energy would be obtained from the current in 2 minutes? (04)
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[ LJ l 1—1 l Answer Sheet No, , 23

Sig. of Candidate. 8lg. of invigiiator.

PHYSICS SSC-H
SECTION — A (Marks 12)
Time allowed: 20 Minutes [ Version Number [1[8[1 |6 |

NOTE: ' Section-A is compulsory. All parts of this section are % be answered on the question paper itseif.
' " it shouid be completed in the first 20 minutes and hmnded over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencl.

Q.1 Circle the correct option i.e; A/ B/ C/D. Each part carries ore mark.

(i The critical angle of water will be:
A 18.8° B. 28.8° C. 38.8° D. 48.8°
(ii) Which of the following equations is correct for magnification?
A4 B. i;- c. & D. i’;
P p h ki
(iii) If the time period of simple pendulum is one second, then its length on earth will be:
A 1.26m B. 0.25m C. 225m D. 325m

(iv) What is the displacement of an object in simple harmonic motion when X.E=P.E?

X, x, X,
A X=X, B. Jc=—4i C. x=ﬁ D. x=—3—
v) The S| unit of intensity of sound is:
A J57im™? B. 57?m? - C wm D. wm™
(v Loudness of sound depends upon;
A Wavelength B. Frequency C. ' Amplitude D. Time period

(vii) If 5 joule of work is needed to shift the 10 coulomb charge from one place to ancther place then the
potential difference between the plates will be:

A 5 volt B. 10 volt C. 2 volt D. 0.5 valt
(vi) 1 eVis egualto
A 1.6x10°J B 1.6x10°J  C. 1.6x10°J D 1.6x10°J
(ix) How long does it take a current of 10 mA to deliver 30 C of charge?
A 3s B. 30s C. 300s D. 3000 s
(x) Kilowatt Hour is a unit of:
' A Energy B. Power C. Current D. Resistance

(xi) Which of the following is not processing?
A Manipulating B. Calculating C. Arranging D. Gathering
(xiiy  What is the size of Nucleus? i

A 107m B. 10Mm c. 10%m . 107%m
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PHYSICS $SC-lI 2 l/\

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any #wo questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer $heet i.e. Sheet-B If required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

SECTION - B (Mashs 33)

Answer any ELEVEN parts. The answer to each part sheuld not exceed 3 to 4 lines. (11 x3=33)

M

(ii)
(i)
(iv)

(v)
(vi)
{vii)
(i)
(ix)
(x)
(xi)
(xii)
(i)
(xiv)

(xv)

Prove that v= f4

Differentiate loudness and intensity of sound.

Why the voice of women is more shrill than that of men?
Define the following terms of iens:

a. Principal axis b. Optical centre C. Power of lens
Why is the driver's side mirror in many cars convex rather than plane or concave?
Why do we use refracting telescope with large objsctive lens of large focal length?
What is the difference between variable and fixed capacitor?

Describe briefly electrostatic air cleaner.

Differentiate between electromotive force and potentia! difference.

Why ammeter is always connected in series with circuit?

Does a fuse in a circuit control the potential difference or the current?

State Faraday's law of electromagnetic induction.

Can a transformer operate on direct current?

What is super computer?
Make a truth table of:
a, AND gate b. OR gate
SECTION - C (Maghe 20) -

Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)
Define Nuclear fission reaction and fission chain reaction. Differentiate between controlled and
uncontrolled fission chain reaction, (1+2+3)
If the length of copper wire is 1m and its diameter is 2mm then find the resistance of this
copper wire. (Resistivity of wire is 1.69x107°Qm ) (04)
Define C.R.O. Draw the labelied diagram of C.R.O. Explain the working of different parts
of C.R.O. (1+2+3)
Calculate the intensity level of the faintest audible sound in decibel. (04)
Explain the following properties of wave with reference to ripple tank experiment. (2+2+2)
i. Reflection i, Refraction ii. Diffraction
A sound wave has frequency of 2 KHz and wavelength 35cm. How long will it take to trave!

1.5 km? (04)
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